H6S

Why did the BICYCLE go to a PSYCHIATRIST ?

TO ANSWER THIS QUESTION, FOLLOW THESE DIRECTIONS:

Add the four numbers touching any letter below and write the sum next to
the appropriate letter. Then find your answer in the code at the bottom of
the page. Each time the answer appears in the code, write the corresponding
letter above it. Keep working and you will decode the answer to the question.

CODED
ANSWER: 174 115 ~103 -113 76 —108 22 -108 34 291

34 216 149 174 —108 -113 34 —62 —-25 216 166 34 —291 ~23 —69
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